
 

  
VESA Mount Kit 

 

Quick Start Guide 
 

Package Content 
•  75 x 75 mm VESA Mounting Plate x 1 

•  M3 x 5mm Flat Screws x 5 

•  M4 x 5mm Round Screws x 4 
 

How to Use 
Attached the VESA Mount Kit 
1. Carefully place the tablet face down. 

2. Align each of the four corners, making sure the screw holes are aligned in each. 

3. Insert four M3 x 5mm screws into each of the 4 corners of the tablet, making sure not to 

over tighten. 

4. Test to make sure the VESA mount plate has been properly installed. 

 

 

 

 

VESA Mount Kit Quick Start Guide             V1.0 


	Package Content
	  75 x 75 mm VESA Mounting Plate x 1
	  M3 x 5mm Flat Screws x 5
	How to Use
	Attached the VESA Mount Kit


